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Part 2
( 11 1.3 3 4.1

Suez Canal was blocked for about six d Sin March 2021 as Ever Givenlbne of e
largest container ships in the world, was stuck in the canal bank. This 2021 Suez Canal
obstruction greatly affects the supply chain industry. L efs assume that this event caused
a mporary negative supply shock 66 1 1MIMINMIE 3H615°

Question 1 (20 points): Think about the simple version ofthe two-period model of
consumption and saving—i.e.Cindividual only lives for two periods (current and
futur and diesby eendof e second period, whUe no bequest nor no Ponzi game

is allowed.

1.1. (4 points) How does this event of a temporary shock that decreases the current
0 putaffects the current consumption and e future eonsumptionlteteds paribus?
(A) The current consumption and the future consumption increase
(B) The current consumption and the future consumption decrease
(C) The current consumption increases and e future consumption decreases
(D) he current consumption decreases a d the fiiture consumption increa s
(E) None ofthe above.

1.2. (6 points): Following que ion 1.10please justify your above answers about
consumption choices based on the diagram with intertemporal budget constraint and
indifference curves. Label all the axes.

1.3. (4 points): How does this event affect the current savings?
(A) The savings increase.
(B) The savings decrease.
(C) The savings remain e same.
(D) The change is uncertain.

1.4. (6 points): Following question L3, please explain your above answer about the
changes in the savings. Explain it with words or equations, not a graph.
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Question 2 (6 points): Please discuss the impact ofthis event on the goods market
equilibrium. Please use the saving and investment diagram to explain your answers.
Label all the axes and curves.

Question 3 (4 points): Holding all the o er things being equal, how does is event
affect the labor demand?

(A) The labor demand increa s.

(B) The labor demand decreases.

(C) The labor demand remains the same.

(D) The change is uncertain.

Question 4 0 points) Let’sassume at 6economy was at its steady state be re

is 2021 Suez Canal obstruction. Then, this event caused e economy have a fall
(e.g.[ht t=50) in production efficiency mporarily. And then, by the time before the
economy reached its new steady-state (e.g., at t=100), the shock was over and then the
production efficiency rose back to the original level. An example of the evolution of

production efficiency over time is shown below.

production effiency

Time

4.1. (4 points) Based on e Solow model, please discuss the impact of this event on
e1 - unwelfare of is economy.
(A) It improves the welfare
(B) " reduces the welfare
(C) The welfare remains the same.
(D) The impact on welfare is uncertain.
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4.2. (16 points) Please describe e transition time path for capital per capka over time
due to the shock.

Step 1. Please show itin a graph  points).
Step 2: Please answer e following questions  provide the explanations for your
graph:

(1) (5 points) Why does the capital per capita increase (or decrease)?

(2) (5 points) Why does the slope of e time path change in e way you draw?

—end—



